41

192

3

T-91

791
1200R, 1600R,

400 X800 mm.
2

2000R

48

CMM.

1901



2) (
3) (
(4)
(A)
660 C
(*)
()
800 mm. 2
(C)
800 mm. H®
()

680 °c

52

T-91
670 °c
() 660°c

2200 mm. 2

2200 mm. 2

41



Run
Number

ol BB N

-~ O

oo

10
11

12
13
14
15
16

A

Factor

B

C

+ 4+ + +

41

Random Number
D Runlabel Rep.l| Rep. | Rep. Il

(1) Y1 Y2 Y3
a Y4 Y5 Ye
b Y7 Ys Y9
ab Y10 Y11 Y12
c Y13 Y14 Y15
ac Y16 Y17 Y18
be Y19 Y20 Y21
- ahc Y22 Y23 Y24
4 d Y25 Y26 Y21
+ ad Y28 Y29 Y30
+ bd Y3l Y32 Y33
+ abd Y34 Y35 Y36
+ cd Y37 Y38 Y39
4 acd Y40 Y41 Y42
+ bed Y43 Y44 Y45
+ abed Y46 Y47 Y48
2
8 1600 R

24 Factorial Design 3
48

53



4.2

?

24 Factorial Design

Parameter

192

Parameter

Parameter

High level(+)
Low level(-)
High level(+)
Low level(-)
High level(+)
Low level(-)
High level(+)
Low level(-)

670° C

660°c

2200 mm. HX
800 mm. HY

2200 mm. HX
800 mm. HX

12

54



level
Random

Run
Number

O OO N O o1 P&~ LW PO e

| T T e e T e —
(o> NS o B P 0 e ]

4.2

A

4.2

Factor

B

C

evel 3
24x3 = 48
Factor
41

D Run Label Rep. |

(1) 0.122
A 0.688
B 0.804
Ab 0.970
C 0.253
Ac 0511
be 0.690
ahc 0.560

¥ d 0.864
t ad 0.236
* bd 0.518
t abd 0.235

* cd 0.117
b acd 0.988
4 bed 0.146
4 abed 0.268

4.3

Rep. Il
0.647
0.120
0.588
0.657
0.664
0.661
0.393
0.389
0599
0.365
0.012
0531
0.747
0.353
0.967
0.103

Random Number

Rep. |
0.182
0.547
0571
0.042
0451
0.841
0.479
0.677
0.643
0875
0.959
0.484
0.404
0.207
0.541
0.056

55



Run
Number

O© OO N O o1 B~ W N

[ N T e - T Ty Ty
o ol Bw D o

Run Number

Factor
A B C
+

+
+ O+

n
+ . 4+

+ o+
+ 0+ 4
+

+
+ 4

+

+ +
4+
+ o+ 4

Random
11 Parameter

4.3
D Run Label
(1)
a
b
ab
c
ac
be
ahc
+ d
u ad
* bd
t ahd
* cd
u acd
+ bed
+ abed

Rep. |

-
38
41
47
13
23
39
28
43
12
24
1
5

48
8

14

Rep. |l
17
6
30
34
36
35
18
17
3l
16
1
25
40
15
46
4

56

Random Number

Rep
9
21
29
2
20
42
21
37
32
44
45
22
19
10
26
3

1,24 45
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4.3
? ?
431
?
? 1600 R 44
4.4
Run Factor Radius
Number A B C Run Label Rep. | Rep. |l Rep. Il Total
1 (1) 1690 1682 1688 5060
2 LA a 1688 1695 1679 5062
3 - b 1865 1875 1873 5613
4 LU ab 1850 1863 1869 5582
5 + c 1455 1482 1475 4412
6 L ac - 1486 1460 1478 4424
1 LA be 1695 1688 1675 5058
8 b+ 4 ahc 1673 1689 1682 5044
9 t d 1677 1685 1685 5047
10 t * ad 1684 1693 1700 5077
1 + ¥ bd 1880 1873 1873 5626
12 4 4+ + ahd 1866 1875 1858 5599
13 t 4 cd 1475 1458 1466 4399
14 b b4 acd 1445 1470 1453 4368
15 b+ 4 bed 1675 1687 1692 5054
16 ot 4 abed 1695 1680 1686 5061



58

SS = (Contrast)2
16

SSA= (a-(l)-b+ab-ctac-he+abc-d+ad-hd+abd-cd+acd- bed +abed)2
16x3
= (5062 - 5060 - 5613 + 5582 - 4412 + 4424 - 5058 + 5044 - 5047 + 5077 - 5676 +

_5399 - 4399 J§184368 - 5054 +5061)2
. A
48

= 56.33

SSB = (b-()-9+ab-c-ac+be+abc-d-ad+hbd+abd-cd-acd+bed+abed)2
16x3

= (5613- 5060 - 5062 + 5582 - 4412 - 4424 + 5058 +5044 - 5047 -5077 + 5626 +
5599 - 4399 -4368 +5054 +5061)2

= urn- 48
48

= 477603

SSab ((1)-3-b+ab+c-ac- be+abc+d- ad- bd +abd +cd- acd - bed +abed)2
16x3
(5060 - 5062 - 5613 +5582 + 4412 - 4424 - 5058 + 5044 + 5047 - 5077 - 5626 +
5599 + 43994—84368 -5054 +5061)2
- M
48

126.75

s$SC (c-(1)-a-b-ab +ac+bc+abc-d-ad- bd- abd +cd +acd +bed +abed)2
16 x3
= (4412 - 5060 - 5063 - 5613 - 5582 + 4424 + 5058 + 5044 - 5047 - 5077 - 5626 -

5599 + 4399 + 4368 + 5054 + 506 2
= LA 48
48

489244
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SSC= ((1)-a+b-ab-ctac-be+abc+d-ad+hd- abd-cd+acd - bed +abed)2
16x3
= (5060 - 5062 +5613 - 5582 - 4412 + 4424 - 5058 + 5044 + 5047 - 5077 + 5626 -

5599 - 4399 Zé368- 5054 +5061)2

SSEC = lll)+a-b-ab-c-ac+hbe+abc+d+ad-hd- abd-cd-acd +bed +abed)2
16x3
= (5060 + 5062 - 5613 - 5582 - 4417 - 4424 + 5058 + 5044 + 5047 + 5077 - 5696 -

5599 -4399 - 4368 + 5054 + 5061 )2
= 48

48
= 4033.33

SSabc = ia_(1)+b-ab+¢-ac-be+abc-d+ad+hd-abd+cd-acd-bed +abed)2
16x3

(5062 - 5060 + 5613 - 5582 + 4412 - 4424 - 5058 + 5044 - 5047 + 5077 + 5676 -

5599 + 4399 -4368 - 5054 + 5061)2

* 1 48

48

216.75

o
1

01.-11)-3 -b-ab-c-ac-be-abc+ad +bd +abdcd +acd + bed + abed)2
16x3
(5047 - 5060 - 5062 - 5613 - 5582 - 4412 - 4424 - 5058 - 5044 + 5077 + 5626 +

5599 + 4399 + 4368 +5054 +5061)2

- 48
4

(5

12
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SSO = ((1)-at+b-ab+c-acthc-abc-d+ad-hd+abd-cd+acd-bedz abed)2
16x3
(5060 - 5062 + 5613 - 5582 +4412-4424 +5058 - 5044 - 5047 + 6077 - 6676 +

5599 -43994+84368 - 5054 +5061)2
= 10)2
(48)

= 208

SSBD = (il)-la-b-ab+C+ac-be-abc -1(16-a3d + bd + abd -cd -acd + bed + abed)2
X
= (5060 + 5062 - 5613 - 5582 + 4412 + 4424 - 5058 - 5044 - 5047 - 5077 + 5626 +

0599 - 4399 - 4368 + 5054 + 5061)2
= u418Q}2 48
= 252.08

SSAD = (a_1(l)+b-ab-c+ac+he-abc +1% -éid -bd +abd +cd -acd - bed + abed)2
X

(5062 - 5060 + 5613 - 5582 - 4412 + 4424 + 5058 - 5044 + 5047 - 5077 - 5626 +

5599 + 439?18 - 4368 - 5054 + 5061 )2

49)2

(43)

33.33

SSO = (()+a+b+ab-c-ac-be-abc- d-ad-hd-abd +cd+acd +hed +abed)2
16x3
= (5060 + 5062 + 5613 + 5582 - 4412 - 4424 - 5058 - 5044 - 5047 - 5077 - 5626 -
5599 £ 4399 + 4368 + 5054 + 5061)2
= <P
48
161.33
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SSAD= (a-(1)-b+ab+tc-ac+he-abc+d-ad+bd-abd-cd +acd-hed +abed)2
16x3
= (5062 - 5060 - 5613 + 5582 + 4412 - 4424 + 5058 - 5044 + 5047 - 5077 + 5626 -

5500 - 4300 +4368- 5054 + 50612
= (a2
(2
= 6075

SSbad= (h.-(1)-a+ab+c+ac-he -abc1+6d 3+ ad - bd -abd - cd - acd +hed +abed)2
X

= (5613 - 5060 - 5062 + 5582 + 4412 + 4424 - 5058 - 5044 + 5047 + 5077 - 5626 -
5399 - 4399484368 +5054 +5061)2

= (%4]2
54
= 60.75

SSebar  ((1)-a-h+ah-C+ac +he-abc -1d6+3ad +bd -abd +cd -acd - bed +abed)2
X

= (5060 - 5062 - 5613 + 5582 - 4412 + 4424 + 5058 - 5044 - 5047 + 5077 + 5626 -
5399 + 43994{3 4368 - 5054 +5061)2

= (g

= 16133

sst = X X X

= 135932854 - 134958254.1
= 9745%9.92

JBD SST~ ~ ~ ' w'SSHD
= 97459992 -56.33-477603-489244 - ...- 161.33

2576.11
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4.5

Source of Variation - Sum of Squares Degrees of Freedom Mean Square [y

A 56.33 1 56.33 0.7
B 477603 1 477603 5932.96
AB 126.75 1 126.75 1.57
C 489244 1 489244 6077.5
AC 0 1 0 0
BC 4033.33 1 4033.33 50.1
ABC 216.75 1 216.75 2.69
12 1 12 0.15
AD 2.08 1 2.08 0.03
BD 252.08 1 252.08 3.13
ABD 33.33 1 33.33 0.41
CD 161.33 1 161.33 2
ACD 60.75 1 60.75 0.75
BCD 60.75 1 60.75 0.75
ABCD 161.33 1 161.33 2
Error 257.11 32 80.5
Total 974599.92 47
o1 = 417
4.5 F B =5932.96 FO C=60775C

Fo BC = 50.1 Fos 12 B C



'Nt,

43.2

mK.
800
1000
1200
1400
1600
1800
2000
2200

4.6

200 mm.H2
1200 R 1600 R 2000 R

800

1280
1313
1345
1370
1382
1403
1421
1425

4.6

1000

1261
1297
1325
1349
1362
1374
1391
1415

48

1200

1215
1248
1305
1332
1361
1382
1390
1405

41-4.3
1400 1600

1200 1143
1208 1192
1240 1200
1291 1243
1319 1288
1357 1312
13712 1345
1385 1366

800 - 2200 .2
64 X3 = 192
1200 R
1800 2000 2200

1119 1100 1095
1150 1127 1112
1195 1162 1135
1208 1206 1148
1259 1205 1187
1297 1238 1211
1322 1285 1236
1366 1313 129
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SN4

47
800
'V

800 1723
1000 1761
1200 1778
1400 1812
1600 1825
1800 1839
2000 1855
2200 1860

48

800

\
800 2115
1000 2168
1200 2266
1400 2295
1600 2343
1800 2435
2000 2488

2200 2575

1000

1662
1706
1738
1763
1788
1830
1851
1862

1000

2044
2103
2175
2255
2312
2345
2447

2506

1200

1622
1645
1693
1758
1770
1795
1815
1843

1200

2012
2039
2088
2165
2243
2308
2359
2450

1400

1614
1622
1650
1688
1740
1773
1800
1823

1400

2008
2020
2047
2110
2170

2263
2287
2342

1600

1575
1600
1619
1658
1710
1742
1765
1788

1600

1970
1989
2010
2050
2105

2163
2247

2300

1800

1510
1546
1613
1635
1664
1700
1735
1768

1800

1942
1975
2005
2021
2063
2100
2171
2265

1600 R

2000

1463
1489
1535
1582
1620
1656
1711
1740

2000 R

2000

1903
1938
1988
2013
2015
2035
2090
2162

2200

1450
1450
1500
1543
1594
1621
1658
1700

2200

1900
1893
1945
1985
2005
2010
2040
2100
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1600R

2000R

1200R

1600R

Xk
I

2000R

R2

X2 =

65

1200R
4.6, 4.7 48
Statgraphic

1356.90-0.191924X1 + 0.087406X2 + 0.000035X1X2
0.9749

1840.93-0.262934X1 + 0.072423X2 + 0.0006X1X2
0.9853

1819.47-0.032898X1 + 0.466239X2-0.000145X1X2
0.9791



(nAnylhy (0 )

800

1000

41

1200

1400

«

1600

1800

2000

1200 R

2200

800

1000
1200
1400
1600
1800
2000
2200



1000

4.2

12

14

16

18

1600R

20

22

800
1000
1200
1400
1600
1800
2000
2200

0>



1)

WTHITAA (

800

1000

4.3

1200

1400

1600

1800

2000

2000 R

2200

800

1000
1200
1400
1600
1800
2000
2200
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41 -

411

43

1200 R, 1600 R 12000 R

4.9

1400
1200
1000
800
600
400
200

-200
-400
-600
-800
-1000
-1200
-1400

1425
1427
1403
1382
1370
1345
1313
1280
1261
1215
1200
1143
1119
1100
1095

1415
1391
1374
1362
1349
1325
1297
1248
1208
1192
1150
1127
1112

1405
1390
1382
1361
1332
1305
1240
1200
1195
1162
1135

44 - 46

1385
1372
1357
1319
1291
1243
1208
1206
1148

1366
1345
1312
1288
1259
1205
1187

1366
1322
1297
1238
1211

1200 R

1313
1285
1236

69

1295



1425

4.9

4.10

1400
1200
1000
800
600
400
200

-200
-400
-600
-800
-1000
-1200
-1400

1860
1855
1839
1825
1812
1778
1761
1723
1662
1622
1614
1575
1510
1463
1450

1862
1851
1830
1788
1763
1738
1706
1645
1622
1600
1546
1489
1450

-1400

1843
1815
1795
1770
1758
1693
1650
1619
1613
1535
1500

1823
1800
1773
1740
1688
1658
1635
1582
1543

1788
1765
1742
1710
1664
1620
1594

1095

1768
1735
1700
1656
1621

1600 R

1740
1711
1658

10

1700



411

1400
1200
1000
800
600
400
200

-200
-400
-600
-800
-1000
-1200
-1400

2515
2488
2435
2343
2295
2266
2168
2115
2044
2012
2008
1970
1942
1903
1900

2506
2447
2345
2312
2255
2175
2103
2039
2020
1989
1975
1938
1893

2450
2359
2308
2243
2165
2088
2047
2010
2005
1988
1945

2342
2287
2263
2170
2110
2050
2021
2013
1985

2300
2247
2163
2105
2063
2015
2005

2265
2117
2100
2035
2010

2000 R

2162
2090
2040

n

2100



NINXPAM (min)

-2000

-1500

-1000

-500

500

(mm.Hj0)

1000

1200 R

1500

2000



@

) t-wytLtWLa

(mm.HjO)

) 45



(mm.)

-2000 -1500 -1000 500

500 1000 1500

2000
(mm.HjO)
4.6

2000 R



15

491410 411
1200 R 1095 - 1425 R
1600 R 1450 - 1860 R
2000 R 1900 - 2515 R
44145 46
1200 R y= 0.1416X + 12785
1600 R ?  y=0.1696X + 16911
2000 R Y= 0.2482X +2142.1
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